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ITEL 0020 10H24H (K) 10307y [IHBIASEE 2MF 11oaa=
1T 0022 10248 (OR) 106£30%  [IHBIGREE 2M% 115aE=
ITEL 0034 10H24H (K) 1207455y [IHBIAREE 2B 115a=
1T 0038 10H24 8 (OR) 1203455y [IHBIGSEE 2M% 115aE=
ITEL 0040 10H24H (K) 1207455y [IHBIAREE 2M 11oa=
1T 0043 10H24 8 (OR) 1485105y [IHBIGREE 2M% 115aE=
ITEL 0030 10H24H (K) 147105y [IHBIASEE 2B 115a=
1T 0047 10H24 8 (OR) 1485105y [IHBIGREE 2M% 115aE=
ITEL 0048 10H24H (K) 150355 [IHBIAREE 2M 11oa=
1TEL 0055 10H24 8 (OR) 150354y |IHBRREE 20 115a=
ITEL 0056 10H24H (K) 150355y [IHBIAREE 2M 11oa=




